Stewart Calculus ET 5e 0534303217, 2. Limits and Derivatives; 2.3 Calculating Limits Using the Limit Laws
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(b) No, lim F(x) does not exist since lim F (x)=lm F(x).

x—1

x—>1 a1

Stewart Calculus ET 5e 05343032172, Limits and Derivatives; 2.4 The Precise Definition of a Limit
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-1 — &0.04455 . So if the machinist gets the radius within 0.0445 cm of 17.8412 ,
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the area will be within 5 cm ~ of 1000 .
(c¢) x is the radius, f(x) is the area, a is the target radius given in part (a), L is the target area (1000) ,
¢ 1is the tolerance in the area ( 5 ), and o is the tolerance in the radius given in part (b).
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Stewart Caleulus ET 5e 05343932172, Limits and Dertvatives; 2.6 Limits at Infinity; Horizontal Asymptotes

53.
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lim — =lim { 4- . =4 , and lim =lim 4+; =4 . Theretore, by the Squeeze
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Theorem, lim f(x)=4 .
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